[ number of missing inner layers | [ number of missing outer layers |

1e Entries 847 1e Entries 847
E Mean 1.491 e : : : : + [ Mean 1.348
= Std Dev 1.216 r Std Dev 1.716
il S— oL OO s s s s
107 Entries 844 107 h Entries 844
o Mean 1.469 o Mean 134
N Std Dev 1.212 - Std Dev 1.713
-2 : : : 2L
10 3 10 3 Entries 881
F F 1.369
3 I 3 I Std
10°F 10°F
—4 L -4
107°F ; § : 107°F
F Entries 883 F Entries
- Mean 1.417 - Mean 1.368
-5 Std Dev 1.212 -5 Std Dev 1.73
10°E 10°E
01()164""“"'""I""""' b b b Ly o107 FTTE ITETE FRTR1 AR FRTTI FEUT ATeTd Perm O
T 1.05f— g E ==
x E— x i D R ] ]
1,.__ 3 —_— —_——
0.95F- -+~ 0.95F~
9 E 0.9%
0 0
mean hi
— Entries 847
) ' ' : ' Mean 13.24
> 10%f=: : 3 3311
N NN |
Q Entries 844
= Mean 13.23
v Std Dev 338
----- - .—------:-Emries 881
: : : . Mean 13.15

Std Dev

10

: [Entries
Mean 13.18
Std Dev

=
TTTT]

E
N

Ratio
Ratio

I
HR

[y

. -
"
+
=
[TTrr[rrres

o
©
a

r
:
O =gttt -
o

30 35 40
track n track hits

[T
N
|
[
N
w
Orrr

Entries 135040 Entries 1644
Mean 2.114 Mean 1.972
Std Dev 5.939 Std Dev 3.693
B [ 10" n T T 1
= Entries 135040 Entries 1630
10_2 S SR, T Mean 2.114 Mean 1.96
E Std Dev 5.939 Std Dev 3.697
E ; I : 1
[ Entries 135040 Entries 1679
3| an 2114 Mean 1.924
10 E S ev 5.939 Dev 3.792
E | R
: Entrigs 135040 tries 1706
_4 Mear 2.114 Ipan 1.959
107°F Std Del 5.939  Dev 3.875
E | I : I
B Entries 135040 Entries 1681
g B Mean 2.114 Mean 1.962
107°F Std Dev 5.939 10*5E_ . Std Dev 3.894
Y I R N I ol o |
o108 . o107k :
= L : = R R P B L BAR 2 A E S oo i
R WL 1| g ! -

- o <+ 111
1111111111:1111111”” . TTIE
;_I-TTTTTTTTTETTTTT”H” 0.9F- LA A I,
N : F 4 + g

0.95— i i - s 8 i L L s
10 1 10 10 10 10 1 10 10 10
TP p. track p_



	Contents
	Page 1


